[bookmark: _Hlk38397277]Monday 15th June 2020
Questions from myminimaths.co.uk:
2a) 216 + 1285 =                                                   2b) 334 + 1328 =
2c) 5114 + 297 =                                                   2d) 546 + 2781 =                                                   
2e) 737 + 2038 =                                                    2f) 4617 + 632 =                                                   
2g) 982 + 6218 =                                                   2h) 7833 + 564 =                                                   
2i) 238 + 1590 =                                                      2j) 784 + 8619 =                                                   
2k) 3175 + 662 =                                                     2l) 555 + 1485 =                                                   
2m) 227 + 1576 =                                                   2n) 3281 + 1285 =                                                   
2o) 437 + 2617 =                                                    2p) 1906 + 825 =                                                   
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https://myminimaths.co.uk/arithmetic-16-practice-question-2/ 
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Answers:
 https://myminimaths.co.uk/arithmetic-16-answers-question-2/ 
 





Questions from myminimaths.co.uk:
11a) 2553 – 605 =                                      11b) 448 – ___ = 151
11c) 4466 – 828 =                                      11d) 8734 – 459 =                                                   
11e) 703 – ___ = 2038                                 11f) 5892 – ___ = 2430                                                  
11g) 7839 – 348 =                                      11h) 2198 – ___ = 1477                                                   
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https://myminimaths.co.uk/arithmetic-16-practice-question-11/ 
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 https://myminimaths.co.uk/arithmetic-16-answers-question-11/


Mr Needham’s Maths Group – Week 12

	LO: To add more than 4-digits – more than one exchange. 

	Tuesday 16th June 2020

	Star words:    place value                    addition                       greater         altogether               in total             increase by           whole      



	Fluency
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	6) 
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	Reasoning
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	Problem Solving

	[image: ]
	[image: ]

	[image: ]
	



Mr Needham’s Maths Group – Week 12


	LO: To subtract two numbers with more than 4-digits – with exchanges 

	Wednesday 17th June 2020

	Star words:    place value                    subtraction             difference                      in total            decrease by           remain              how many more 



	Fluency

	[image: ]

	1) 5,783 - 565 =
[image: ]
	1) 2,037 – 1,589 =
[image: ]
	3) 4,721 - 3,650 =
[image: ]

	4) 4,721 - 3,650 =
[image: ]
	5) 4,172 - 3,650 =
[image: ]
	6) 2,541 – 1,829 =
[image: ]

	7) 2,499 -1,829 =
[image: ]
	8) 6,063 - 4238 =
[image: ]
	9) 8,030 - 3,355 =
[image: ]


	[bookmark: _GoBack]Reasoning 

	Find the missing 4-digit numbers.
[image: ]
	Rosie completes this subtraction incorrectly.
[image: ][image: ]
Explain the mistake to Rosie and correct it for her.


	Problem Solving
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Mr Needham’s Maths Group – Week 12


	LO: To estimate and check answers.

	Thursday 18th June 2020

	Star words:    Addition                subtraction                 difference                      estimation                    inverse                       how many 



	Fluency

	[image: ]
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	Decide whether to round to the nearest 10,100 or 1000 and estimate the answers to the calculations.

	3) 4623 + 3421 =

	4) 9732 + 6489 =


	5) 8934 + 1187 =


	2300 + 4560 = 6860
Use subtraction to check the anser to the addition.
Is there more than one subtraction we can do to check the answer?
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	Reasoning 
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	Problem Solving
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Friday 19th June 2020
Arithmetic
	1) 2042 - 100 =
	16) 362 -7 =

	2) 263 x 4 =
	17) 50.09 – 9.97 =

	3) 9.6 + 0.8 =
	18) 3 x 5 x 6 =

	4) 32 ÷ 2 =
	19)   +    =

	5) 1432 + 614 =
	20) ___ x 5 = 450

	6) 9 x 6 =
	21) 3.21 x 100 =

	7) 403 + 9 =
	22) 92

	8) 49.14 + 49.14 =
	23) 39,200 + 9,500

	9) 2 x 5 x 12 =
	24) 720 ÷ 90

	10) 201 - 10 =
	25) ___ x 80 = 6400

	11) 69 x 4 =
	26) 20% of 8500

	12) 12.6 + 16.8 =
	27) 9.12 x 6 =

	13) 48 ÷ 2 =
	28)   +    =

	14) 2608 + 319 =
	29) ___ x 4 = 360

	15) 12 x 4 =
	30) 4.63 x 100 =
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. Rosie uses counters to find the total of 3,356 and 2,435
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& Find the total of 4,844 and 2,156
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546 7
+ 3572




image11.png
3964
+ 2058
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@ :! 5428 + 1274 = 6692

Eva

Here is her working out:

5/4 2 8
+ 1,2 7 4
6 6 9 2

Is she correct? Explain why.
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Jack says,

When | add two numbers
together | will only ever
make up to one exchange
in each column.

©F;

Do you agree?
Explain your reasoning.
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Sort the additions into the table.

No Exchange | Exchange
exchange | 10 ones 10 tens

375+18 456+72  912+79
2419 + 362 2637 + 6081
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Complete:

Th H T o

Mo says that there is more than one
possible answer for the missing numbers
in the hundreds column.

Is he correct?

Explain your answer.
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Work out the missing numbers.

?47?237
+ 27?572
785209
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. Dexter is usini ilace value counters to calculate 5643 — 4,316
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Rosie completes this subtraction
incorrectly.

28701
-_/62]
21180

Explain the mistake to Rosie and correct
it for her.
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A shop has 8435 magazines.
367 are sold in the morning and 579 are sold in the afternoon.

How many magazines are left?

8435

There are ____magazines left.
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There were 2,114 visitors to the museum
on Saturday.

650 more people visited the museum
on Saturday than on Sunday.

HHIWHH\IH\

Altogether how many people visited the
museum over the two days?
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Look at each pair of calculations.
Which one out of each pair has the same
difference as 2,450 — 1,8307?

2,451—1831 2,451—1829

2,500 — 1880 2,500 - 1780

2449 — 1829 2,449 — 1831
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& Match the calculations with a good estimate.

345 +1234 3,000 + 6000
2,985 + 6,325 3,500 + 1200
3541+ 1179 350 +1200
2,135 + 6292 2,000 + 6,000





image26.png
[ Alexis estimating the answer to 3625 + 4,277
She rounds the numbers to the nearest thousand, hundred and ten
to give different estimates. Complete her working.

Original calculation: 3625 + 4277 = ___
Round to nearest thousands: 4,000 + 4000 = ___
Round to nearest hundreds: 3600+ ___=___
Round to nearesttens: ___ +_  =_
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Complete the pyramid. Q
Which calculations do you use to find \

the missing numbers?

Which strategies do you use to check

your calculations? . @ ‘
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The estimated answer to a calculation is
3400

The numbers in the calculation were
rounded to the nearest 100 to find an
estimate.

What could the numbers be in the
original calculation?
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Here is a number sentence.
350 + 278 + 250

Add the numbers in different orders to
find the answer.
Is one order of adding easier? Why?

Create a rule when adding more than
one number of what to look for in a
number.
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Use the number cards and + or — to
make three calculations with an

estimated answer of 2500

1295 1120
4,002 1489
3812 1449
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| completed an addition and then used
the inverse to check my calculation.
When | checked my calculation, the
answer was 3,800

One of the other numbers was 5200

What could the calculation be?

3800
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